Data sets

Partial x?/ Ngp

HERA I+II neutral current  e*p, E, = 920 GeV 419/332
HERA I+II neutral current  e*p, E, = 820 GeV 60/63
HERA I+II neutral current  e*p, E, = 575GeV 198/234
HERA I+II neutral current e+p, Ep = 460 GeV 211/187
HERA I+II neutral current e p 226/159
HERA I+1I charged current e*p 44/39
HERA I+II charged current e p 55/42
CMS 13 TeV tt 3D 24/23
CMS inclusivejets 13TeV 0.0 <y < 0.5 13/22
05<y<1.0 25/21
10<y <15 11/19
15 <y <20 27/16
Correlated x* 132
Log penalty x> -13.54
Global x?/ Ny 1433/1143



